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BOHR OR QUANTUM MECHANICAL MODEL? 

	


The energy of the electrons is quantized; it is restricted to specific amounts.








Electrons are found in the atom in orbitals.

There are a maximum number of electrons allowed in each orbit.

Electrons travel in the atom in circular orbits.

Energy from a photon that is the correct quantum amount can be absorbed by an electron in an atom and can move it to a higher orbit.

Electrons are particles, but they move in waves, like energy.

The position of an electron cannot be predicted, only its probability of being found in a volume of space.
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Make a T-chart, with Bohr on one side and Q-M on the other.  Sort the statements into one of the two columns.

	BOHR MODEL
	Q-M MODEL

	
	


